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For instance °''2w1 and his friends — 19927 97%° 32 1vnw 529 111;:

OVERVIEW

1 " explained that by 1°12m »"awA, since 012X NN they would interrupt
their 770 study only to read w"p but not for 7%5n. Our MO reconciles this
with a seemingly contradictory X773.

mooIn anticipates a difficulty:
—55¥1) Y0911 *wray (*hYan P33) 209 MIN 23 (3,55 91 YIPY NINT NN

And that which the X7n3 relates later (regarding *"2w [and his son]), when
it come the time of davening, he would dress and cover himself and
daven; indicating that even >"2w would (interrupt his learning to) daven —

mooIn responds:
YNY NNIIP 13990 208N NIIN
That expression there '»»x»' means @', but not 79on.

SUMMARY
"2 would not be 091 for 7%5n; only for w"p.

THINKING IT OVER
1. Is the ruling that 7%5n% 1°p°09n X (by those who Jn32IX 101N), mean that
they are not required to be p°091, or that they should not be p>091?*

2. Can we answer Moo question that 79507 PP 097 X refers only to n%on
amin (since there is no recital of w"p then), however by nnw (or 2°vn)
when one has to be P09 to read ¥"p, he must also be 2097 for 79507

! Seemingly this Moo should precede the previous 1x 1133 7"'7 M2OMN. See 2" 7An.

A marginal note amends this to read » %% 17°¥ (as our texts read later in the X3).

? See the X3 there that a whole day *"aw~ and his son would not be wearing clothes and would bury
themselves up to their necks in the sand of the cave, in which they were hiding from the Romans.

* See previous 11X 719 77"7 Moo and 2",

> See P17 2"R12 M (in the back of the noon).
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